P ST B 0 4 D 8 D 2 O (M B T )

A AR SRR E AR D LS EET B,

TR

JE T SR 30 X34 X 3B :

WRMFIKFRIR O —8, LR EREFR, FHE O,

[k

BEMABFIR, FHEE, ZREBDO—%
#125. 3ha ‘

- FHEOEN

BSOS WG R

0 EHE ) B

ARV, WA O, J RSB RBET S 5L £ 6 k m. JLHREE 5
JLHM 4. 5 kmicfLE L. #5078 {8 e S T MRS, s
HEE R B AR A SRR Uy A3 B 7 S B R 0D B & Fh1m A4k - 24
WM A —RE T M L, TR L B L e B AT R RS A e g
5o

SO &S RIS DK OEBEEC S L, W BEAGS Lk
D, BENEDL OB D EFREEHOMRE BN LT .

T FH o

ABRIZOWTH, tHIXEEEFEOR L b, BEBELE» LB
mWEEROMHE EED 5,

B#EON, BREROMECSVW TR —EREOEHSOFELAX D, T%
FHMIMICE T 2 K35, FHTS L RN Lo BE 2 RET 5,

H DX HE 2% D B 15 A7 8

LK E SR &0 XN DR, ARSI oW T, 70 BEE 2R i b
MWL R - Re w5,

B S Do

HEBRELORMO L NIRLTHRELRD L DD L EEHOBREN S -5
L RO EBYED B,

1 THFIAOF DR EEROBRE RS0, UTFOEEETD 5.
DEE % o F & IR |

DAFMER OB ORTITIE U 7= BFE O B & R (G 2 AR %)

3) LEZH X ) He i 5 1 O K4 D M VT IS U - AR R 0 B PR A (H A R)
DHEARNK

BB A M T B b 11 PR

B)BETH OO fi7 B D HIBR B O & 0 5 4l R

2 RELEBLRIRBORLENL D, BEHYOWEIERE, e - &<
DEEESDHBREITS,




W | WEERORBERUHE AFCLR R ORBRURBO L B
i X D X JoEA 1 AMRK(—{E) BH#X(—{E)
X 4 X4 DTE R #113. B5ha #11. 8ha
B 0 0 IR ROESHBITLZREWUAIBEE | KOXASCBITIERSEHUMIESEL T
LTEs%0n, iz s i,
L. g, SEFEE. BRFT 1. SBARICHEAT B IEH SR UHL AT
* 2. BEEEERETSE1304£03T %
DD LD, 2. UHARCHATIEHEEETER
X 3. LRBEHCMGRT L0, U
3. BEIHMEDIERE T (DES—S, 5
L) B, AENENABIHITELD,
AR OBH ORICIE | FHEEIC R K 0 M A
U = R o) f 5 PR B 6./10 (60%)
(R ERR) .
w | MBOUEKEHHEORKKO | FHERC RS KR O 5 BRI RS KR H M
BHEIZEUEAEROBE®E | 10,10 (100%) 20,10 (200%)
. B e
(AEARR)
HANR HERCRT RO HE A FHERNZ R B 0 A
= 410 (40%) 410 (40%)
REL IHEKESBEEE ST ARG | 220, LHRKEEREE B 5 REH
MO MR A T R A | R, BB AT B 2 B N A
Ef%%’b;ot%ﬁ%tt;at&%étis/ EIXHERE 28413610 (6
2] 10 (50%) 0 %)
fff B BEEAERES SO EMLE | kb, BEAREE S 3ABIHES 2B
CHLTORENCH-TR1/10 | B4 THBEY I SH-T11 /10 (1
(10%) Emxlbords, 0%) #MxbD LT 5,
5 BEYORMERORER | 165m (5 0H)
B BL, tHKEEEFEEC ST 5 BREER (KRAEET) R LT IHE s NEa
DWTE, BHERET 5, T, UMEHEIRESNS UL SHE TS
LEwb o, XRBIEFET 2L OROEFICE SO TREY OB L LT HH
THRLWLHMECHEE LtV MIc oW, F0LEMr—0Biy LTHEET 5
L BAE T DRD TRV,
BE T 0D {7 1B 0D 1) bR BEYOHESE»r SERRUVEHERBE COERE. 1. OmblTtrtngs
57\, HU, BEHIMET 5WE - SHER O YK EHE ST &N D BT 5%
FHRECHEE LEVL ORI DR T\,
% | BENBOBS ORERE - ' 12m
" HENFOWENIRED | BIKEDR, HEOHTOELKRRNBHEE AV EWC . B L. HHHEES
IR TEMHER, BHHEERFEAHTRRCREBRETEROBECBVTR IO
. RO TV, $LRFBERE, AKX, OB TFBHKZ. OmBlFrt s,
| hERFTEL OBEOHE BITEE - MIE - R, EHETEHE 7 2V R, XEInhbsx2ElA&EbEL0T,
A EEFI60cmETET 3,
L, AFAMITOWTIEHEE L,

MR UK R HERERO L B |
Bom DOKEEEEROYR MR - SR 5 it MEBE R Lt RIF I ERSEE R RT 5129,




1#h X f 3% 0D Bid i R UM AR AR

[ EERONE & B8 (m) ER(m) [EE(M) |[m=
X | X 8milE [K 16—1 S 16.0 2670 | 4,683.00
E23bio nEn K 12—1 B 12.0 2350 | 1,647.00 | —AEEAIRE3m
| 5% X 9—1 E# 9.0 266.0 | 2,405.00
o X 9—2 S 9.0 | 2240 2,025.00
] | AR X 9—-3 E 9.0 450.0 | 4,062.00
& TOMho | 6.2—1 B 6.2 324.0 | 1,024.00 [REAMEE3mM
& 310)) X 6—1 B8 6.0 154.0 938.00
103 X 6—2 S 60| 111.0| 67500
552] X 6—3 B& 6.0 64.0 391.00
] X 6—4 B8 60| 1260 765.00
X 6—5 Bl 6.0 163.0 987.00
X 6—6 5§ 6.0 113.0 687.00
X 6—7 B 6.0 86.0 525.00
X 6—8 =i 6.0 114.0 693.00
=3 6—9 B 6.0 53.0 327.00
X 6—10 B4 6.0 95.0 577.00
X 6—11 B 6.0 156.0 945.00
X 6—12 B 6.0 30.0 189.00
X 6—13 &4 6.0 142.0 861.00
X 6-—14 24 60| 2670 1,614.00
X 6—15 B4 6.0 40.0 249.00
X 6—16 B 6.0 101.0 615.00
X 6—17 B4 6.0 128.0 777.00
X 6—18 2 6.0 241.0 | 72800 |RENIEE3m
X - 6—19 B 6.0 230.0 | 1,391.00
X 6—20 B 6.0 55.0 339.00
X  6—21 5 6.0 96.0 585.00
X 6—22 B# 6.0 33.0 207.00
X 6—23 24 6.0 82.0 501.00
X 6—24 S 6.0 114.0 693.00
X 6—25 244 6.0 98.0 597.00
X 6—26 B 6.0 94.0 573.00
X 6—27 244 6.0 111.0|  675.00
X 6—28 B 6.0 81.0 498.00
X 6—29 E# 6.0 93.0 567.00
X 6—30 B# 6.0 197.0 | 1,191.00
X 6—31 B# 6.0 34.0 213.00
X 6—32 B 6.0 96.0 585.00
X 6—33 244 6.0 75.0 459.00
XK 6—34 282 6.0 143.0 642.00 |—ERXIK ARG E 3m
X 6—35 B 6.0 110.0 665.00
X 6—36 B 6.0 199.0 | 1,206.00
X 6—-37 244 6.0 221.0 | 1,335.00
X 6—38 2 6.0 76.0 465.00
X 6—39 = 6.0 73.0 447.00
X 6—40 B 6.0 93.0 567.00
X  6—41 24 6.0 111.0 675.00
R 6—42 B 6.0 153.0 925.00
X 6—43 B 6.0 153.0 927.00
X 6—44 B 6.0 118.0 717.00
X 6—45 Eif 6.0 119.0 723.00
R 6—46 = 6.0 153.0 927.00
X 5—1 543 5.0 66.0 342.00
iR STEERAm 4— 158 4.0 29.0 116.00
NEIRE=SE] F1EHELAE 1,965.00
F2EHXNE 2,500.00
HEIEHRENE 3,280.00
15 fkith GRE ) 2,250.00
25 i GREH) 5,000.00
35 fkith 600.00
45 fxh 177.00 ]
JK R 15Kk 823.0 [ 2901.00




